--------------------------------------
 |   ЗАДАНИЕ ПО ТОЭ № 1    | №  1022 ||   
 |-----------------------------------||
 |НОМЕР| УЗЛЫ|  R    |   E   |  Ik   ||
 |ВЕТВИ| H-K |  Ом   |   В   |   А   || 
 |-----|-----|-------|-------|-------||
 |  1  | 2-1 | 500.00|     .0|   .000||  
 |  2  | 1-3 |    .00|     .0|   .020||  
 |  3  | 3-2 | 400.00|     .0|   .000||  
 |  4  | 1-4 | 400.00|    5.0|   .000||  
 |  5  | 3-5 | 200.00|     .0|   .000||  
 |  6  | 2-4 |    .00|     .0|   .000||  
 |  7  | 5-1 | 200.00|     .0|   .000||  
 |  8  | 4-3 | 500.00|    4.0|   .000||  
 |-----------------------------------||
 |     ДЛЯ ПУНКТОВ :                 |
 | 5-ОПР. ТОК I 8(ИСТОЧНИК ТОКА Iк 2)|| 
 | 6-ОПР. ТОК I 3                    || 
 |   FI 2 ПРИНЯТЬ РАВНЫМ НУЛЮ        ||  
 -------------------------------------------------------------------
